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1. H#iE= —RKEARITTAVI)—F
2. &= BALV-EN40VA EN50VA(-BS,-BSG)
3. HEHT
(HOHBE= M M= 1220 kg
QR EE W W=M x 10/1000= 12.20 kN
(2)7uh—iF Wk
OBRAERE :n n= 4 A
@F IWME  d (FEFF) M 16
@—ARH =Y DERETEE (FFRIZKSMETE) A=| 20096 |cm?
O RELBIEE X IHZEDEIRYEZ TS FBIDOTUA—K WMEARE: nt
nt= 2 AN
B FEFELVEFZEDEFTOESS hG= 78.1 cm
(4)REFT BARDSH =R WFANY = 66.0 cm

(5)REF T DA MMOH =N MRLNOHIRE DT TOKTIERE

IG= cm (IGE1/2)

4. RETEHE
(1 ERETAKEEE :KH KH= 15 ET 5,
(2)ERETHKFEMESN FH FH=KHXW= 18.30 kN
() ERETASMEMEN FV FV=1/2xFH= 9.15 kN

(D) TR WDIREB-YUDSIRN :Rb

Rb={FH-hG— (W—FV)-IG}/{I'nt}=[ 101 |kN

(B)7Un-K WDIRB-YITERTHEAMA :Q

Q=FH/n=[ 458  [kN

(6)7Uh—KWMZET B HE

DBI2|RYISHE o 0 =Rb /A= 502 |kN/cm?
o=[__502 | <ft=[__176 |«N/cm’
QEAMEHE T T =Q/A=| 2.28 [kN/cm?

v=[__228 | <fs=[__ 101 JkN/em’
@5|-8RY B AMERIEIZZITIEE
fts=14ft—16 T =| 210 |kN/cm?

o=[ 502 | <fis=[ 210 Jkn/om’
(7) T SR KT B ET - Ho L FRET | (2014 i —IRBAELE A B ARE > 5—) DR 1LY

OFuh—FKIMELE = HEMBIEFTRTH—ARILE
@avy)-tEE= mm = 0.15 |m
QR MDIBEHRAA RS

L=mm = 0.11 m
DHFBBI=RERE Ta= 12.0 kN

Ta=[ 12 JkN>Rb=[___ 101 ]kN
LEDSHELY ., 7Uh-K NI+ DHBREZBELTIVS,

CE)1. REDTETICEWNT, 7Un-N WDEEEATEA TR DNRIYBELGEWRICEEEE
FERALTEZELY,

BALV-EN-VARETHE®REHEE |KFEE 15 HERIEERTVH—RILE WANR1-0196

(1/1)



